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SECTION A: MULTIPLE-CHOICE QUESTIONS (50 MARKS)

1 The long-term financial goal of the firm may be achieved by

W=

maximising revenue and minimising expenses

minimising the cost of capital and maximising return (IRR)
maximising the assets relative to the liabilities
accelerating cash inflows

2 The primary short-term financial goal of the firm may be best achieved by

Hw =

maximising revenue and minimising expenses

minimising the cost of capital and maximising return (IRR)
Increasing expenses In order to reduce the firm’s tax hability
accelerating cash inflows and delaying cash outflows

3 The statement of financial performance measures . and it is also known as ..

w

. sales revenue, gross profit and earmings-after-tax tnat balance

gross profit, earnings before income and tax (EBIT) and net profit statement of
financial performance

cost of goods sold, operating expenses and tax payable balance sheet

sales, EBIT and earnings-after-tax cash flow statement

4 A decrease in sales revenue as a result of a decrease In credit sales is recorded by

1 crediting cash
2 crediting sales
3 debiting cash

4 debiting sales

5 One method often used by companies to ensure that management decisions are in the
best Iinterest of the shareholdersis to ..

1 remove prerequisites
2 threaten to fire managers who do not perform adequately

3 tie management compensation to the performance of the company share price
4 tie management compensation to the level of earnings per share
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6 | &K Manufacturers Ltd has to raise an additional R1 500 000 in equity The firm

should ideally finance itself by means of

Ny -+

&~ W

cents each

7 Afirm’s cash flow becomes more predictable as the

1 current ratio Increases

2 return on owners’ equity Increases
3 current habilities decrease

4 current assets decrease

R300 000 in cash, R1000 000 1n accounts receivable and R200 000 of inventory
R1 480 000 in debentures, 10 000 ordinary shares at a par value of 100 cents
each and R10 000 in retained earnings

500 000 ordinary shares at a par value of 300 cents each

R700 000 in debentures and 800 000 non-voting preference shares at 100

African Enterprises Ltd 1s a newly listed company on the JSE Limited Please use the

following information to answer questions 8 to 10

Sales R500 000
Earnings after interest R250 000
Tax 38%
Preference dividends due R50 000
Preference shares i1ssued 5 000
Ordinary shares 1ssued 10 000

8. Calculate the earnings after tax for African Enterprises Ltd

1 R102 000
2 R115000
3 R155 000
4 R165 000
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9. Calculate the earnings per share (EPS) for African Enterprises Ltd

R15,50
R16,50
R17,00
R18,50

£ WO -

10 Calculate the net profit margin for African Enterpnises Ltd

12,00%
14,00%
25,00%
31,00%

bW N =

11 {f accounts recevable increase by R600, inventory increases by R100 and accounts
payable increase by R300, net working capital would

1 decrease by R400
2 increase by R400
3 increase by R700
4 decrease by R700

12. At the operating breakeven point, equals zero

1 vanable cost

2 fixed cost

3 net profit after tax

4 earnings before interest and tax (EBIT)

13 Waltons Ltd has fixed costs of R6 000 000. The company’s products are sold at
R5 000 per unit, while variable cost amounts to R1 000 per urut Calculate the
company’s breakeven point in unis.

1 1 000 units
2 1200 umts
3 1500 units
4 1 667 units
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14 A company has fixed operating costs of R100 000 Its products are sold at R15 per unit
and the vanable cost per unitis R5 Calculate the company’s breakeven point, in rand

1. R 50000
2 R100 000
3 R150 000
4 R200 000

15 Reler to question 14 above and calculate the marginal Income for the year if the
company sold 20 000 units during the year

1 R120 000
2 R150 000
3 R180 000
4 R200 000

Use the following information for Sea Kay Limited to answer questions 16 to 22.

Opening inventory R70 000
Closing inventory R40 000
Cash R30 000
Accounts receivable R50 000
Long-term assets R500 000
Accounts payable R90 000
Long-term debt R300 000
Sales R500 000
Cost of goods sold R200 000
Prohit before tax R80 000
Tax 40%

16 The gross profit margin for Sea Kay Limited 1s closest to .

1 20%
2 50%
3 60%
4 200%

17 The net profit margin for Sea Kay Limited 1s closest to

1 96%

2 113%
3 13.4%
4 18 6%
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18 The current ratio for Sea Kay Limited 1s closest to

WO =
) =h =k —i
PN
AW WN

19. The inventory turnover for Sea Kay Limited I1s closest to ..

1 2,86 times pa
2 3,63 times pa
3 3,92 times pa
4 4,23 times pa

20. The average collection period for Sea Kay Limited is closest to

1 36 days
2. 80 days
3 180 days
4 360 days

21 The return on investment (ROI) for Sea Kay Limited 1s closest to

1 6,39%
2 7,74%
3 9,12%
4 11,00%

22 A firm can best improve its return on equity (ROE) by increasing the ..

1 sales and decreasing expenditure

2 asset turnover and financial leverage

3 net profit margin

4 net profit margin, asset turnover and financial leverage

23.A current ratto of 5,2.1 may indicate that the firm has too much

cash

Inventory

accounts recelvable
all of the above

AW =
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24 Calculate the growth rate of the following stream of cash flows

2013 R3 600
2012° R3 000
2011 R1 900
2010 R1 000

A LON =

23%
26%
43%
53%

FIN2603/RF12603
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25 Calculate the future value (FV) of R20 000 invested for six years at an interest rate of

8%, compounded semi-annually

S

R14 026
R14 106
R24 015
R32 020

26 Calculate the present value (PV) of R150 000 received eight years from today at an
interest rate of 10 5%

W

R67 483
R77 061
R82 980
R99 613

27 How much should Johnathan invest today at 9% nterest per annum, compounded
monthly, to be able to buy a house worth R2 600 000 six years from today?

y
2
3
4

R 672971,33
R1 518 201,44
R1765 616,71
R1 985 789,23
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28 Find the present value of the following stream of cash flows by assuming that the

organisation has an opportunity cost of 11%.

BN -

Years

Amount (R)

1-3

25 000

47

75000

R 71 203,41
R156 268,41
R225 268,41
R231 228,98

29 If Lesley invests R100 000 m an unit trust offering a rate of return of 15% per annum,
calculate how long it will take for the investment to double I1n value

AWM=

5 years
7 years
9 years
13 years

30.1f S8amantha invests R10 000 at the beginning of each year at an interest rate of 6%
over a six-year penod, the future value of the investment would be

1
2
3
4

R58 687,43
R60 000,00
R73 938,38
R81 854,50

31 Gnvalo Gold Ltd has determined its optimal capital structure, which compnses the
following.

Form of capital Weight After-tax cost
Long-term debt 50% 4%
Preference shares 30% 13%
Ordinary shares 20% 10%
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The weighted average cost of capital 1s

1. 5,3%
2 79%
3 84%
4 9,1%

32 The before-tax cost of debt for a fm, which has a 32% marginal tax rate, 1s 15%
Calculate the after-tax cost of debt

4,8%
8,4%
9,6%
10,20%

WO =

33 The after-tax cost of debt for a firm, which has a marginal tax rate of 35%, 1s 6%
Calculate the before-tax cost of debt

6,0%
8,1%
9,2%
17,1%

BWN =

34 A firm can best improve its ROE by increasing its

1 cash sales and decreasing habilites

2 net profit and using assets needed for core business only
3 profitability, asset turnover and financial leverage

4 sales and decreasing expenditure

35.ABC Limited purchased raw matenals on account and paid for them within 30 days
The raw matenals were used in the manufacturnng of finished goods that were sold on
account 100 days after the raw matenals had been purchased The customer paid for
the finished goods 60 days later Calculate the company's cash conversion cycle

10 days
70 days
130 days
190 days

BWON =
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36 William, the export manager of an international company, wishes to replace a machine
five years from now with a new machine that will cost R500 000 in five years' time If
equal end-of-year deposits are made into an account paying an annual interest of 9%,

calculate the size of each deposit

1 R23 535,24
2 R49 382,38
3 R83 546,23
4 R95 345,78

37. The financial manager is evaluating a proposal for a new project with the following

cash flows
Year Net cash flows
0 —R1 000 000
1 R500 000
2 R500 000
3 R490 000

The payback period is

PN R

two years
between one and two years
three years

more than three years

38 Growthpoint Ltd has made an initial investment of R5 000 000 in a new project The
firm’s cost of capital is 10 50% The investment 1s expected to generate the following

cash inflows over the next five years

Year 1 | R500 000
Year2 | R600 000
Year3 | R950 000
Year4 | R1 100000
Year 5: | R3 000 000
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The profitabihity index (Pl)1s , therefore, the investment should

0,84, be undertaken
0,84, not be undertaken
1,09, be undertaken
1,09, not be undertaken

BN~

39 The present value of the cash flows of an investment i1s expected to total R180 000
The profitability index is calculated at 1,40 Calculate the inihial investment

R127 562,43
R128 571,43
R142 857,14
R147 857,14

AW -

40 A firm with a cash conversion cycle of 40 days can stretch its average payment period
from 15 days to 30 days This will result in a/an .

decrease of 15 days in the cash conversion cycle
increase of 10 days in the cash conversion cycle
decrease of 30 days in the cash conversion cycle
increase of 15 days i the cash conversion cycle

BWR o

41.A company has a cash conversion cycle of 50 days Annual outlays are R10 miilion
and the cost of negotiated financing 1s 9% Calculate its annual savings if the company
reduces its average age of inventory by 15 days Assume 360 days per year

R15 679
R17 778
R37 500
R52 500

ON -

42.The cost of giving up a cash discount under the terms of sale 3/10 net 30 s
(Assume a 36Q-day year )

1 3711%
2 5567%
3 58,99%
4 111,34%
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43 Calculate the difference between the following two Investment proposals
(a) R1 401,82 invested annually for five successive years at 9% per annum
(b) R5 209,22 invested for a term of five years at 10% per annum compound Interest

RO
R36,10
R80,25
R100,35

NN =

44 A firm has annual sales of 80 000 units Carrying costs as a percentage of mnventory
value 1s 15% The purchase price per unit 1Is R200, while the fixed costs of placing an
order1s R20 per order The economic order quantity (EOQ)1s. units

1 145
2 327
3 456
4. 897

45. Assume the sales of the above-mentioned firm are expected to increase by 20% and
the purchase pnce per unit increases to R250 Calculate the new EOQ.

1 160 units
2 320 units
3 580 units
4 660 units

46 Philip Maree has arranged for a 60-day loan at an annual interest rate of 7,5% If the
loan amount 1s R1 000 000, how much interest will Mr Maree pay n rand terms?
(Assume a 360-day year.)

1 RO

2 R12500
3 R25000
4 R75000

47 Calculate the EOQ given the following information

18 506 units used annually, purchased at R55 per unit
Order cost i1s R336 per order
Carrying cost I1s 9% of inventory value

1 1585 units
2 1599 units
3 1614 unis
4 1633 unis
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48 Credit terms of 2/10/30 are set for a business These terms imply

a 2% discount if paid within 10 days, otherwise, the balance Is due in 30 days
that the bond must be amortised before 2 October 2030

that the lease agreement expires on 10 October 2030

a 2% discount If paid within 30 days, otherwise, the balance is due in 10 to 30
days

BwN =

49 Which one of the following statements 1s incorrect?

Relaxation of credit standards will cause an increase In sales volume
Relaxation of credit standards will cause an increase in accounts receivable
Relaxation of credit standards will cause a decrease in bad debt costs
Tightening of credit standards will cause a decrease in bad debt costs

W h =

50 Which stakeholders have the first claim on assets when a firm enters bankruptcy?

Creditors

Top management
Debtors
Shareholders

W=
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SECTION B: LONG QUESTIONS [20 MARKS]
QUESTION 1 (10 MARKS)

The forecasted sales for BBP Limited for January to April 2016 appear in the table below

Month

January February | March Apnil

Sales (R)

150 000 170 000 | 95000 200 000

* The company receives 50% of all sales in the month of sale, 30% one month later, and

15% two months later Five per cent of the company's sales are wntten off as bad

debts

* Purchases are valued at 50% of each month’s projected sales

» The following cash receipts and cash disbursements should also be taken into

account.

O

Rental income for January and February amounted to R10 000 each, while a
15% Increase Is forecasted for March and Apnl

Depreciation on the company’s vehicles amounts to R10 000 per month

In April, the company made a cash contribution of R15 000 to a local chanty
Telephone expenses vary each month The telephone costs for February,
March and Apnl are expected to amount to R1 000, R1 200 and R1 400,
respectively

Salanes are paid as commussion, which Is calculated at 15% of each month's
sales value

In March, payment for delivery vehicles becomes due and the company needs
to pay R15 000 to its suppher
The retrenchment of two employees in March will cost the company R35 000.

The closing cash balance on 31 January 2016 1s R20 000
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REQUIRED

Prepare a cash budget for the months of February, March and April

15
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February (R)

March (R)

April (R)

Opening cash
balance

Cash receipts

Total cash receipts

Cash payments

Total cash payments

Closing cash balance
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ROUGH WORK - (will not be marked)
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ROUGH WORK:- (will not be marked)
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QUESTION 2 (10 MARKS)

Opum Inc considers investing In a new project The inihial outlay of the project will be
R2 000 000 The financial manager of the company has estimated the cash mflows
associated with this new project as follows

Year Cash inflow
1 R200 000
2 R400 000
3 R800 000
4 K800 000
5 R1100 000

The firm's cost of capital 1s 10%

21  Calculate the net present value (NPV) of investing in the proposed project
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22  Calculate the internal rate of return (IRR) of the proposed investment, rounded off to
the nearest whole percentage 4

23  Evaluate the acceptability of the proposed investment based on your calculations of
the NPV and IRR What recommendation would you make regarding the
Implementation of the project? (2)

[TURN OVER]
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ROUGH WORK- (will not be marked)
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ROUGH WORK- (will not be marked)
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Table 1 Future-value interest factors for R1 compounded at k per cent for n periods

FVIF,=(1+k )

Period | 1% 2% 3% % 5% 6% 1% 8% 9% | 10% | 1% | 12% | 13% ) 14% b o15% | 16% | 20% | 25% | 30% | 25%
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2 J1020 J1040 |1061 1082 J1103 Jvi2¢ fi14s Jiiee J1ees 1210|1232 {1254 1277 |1 300 1323 Jie6 [1440 J1ser |ieso |isas
3 1103 jroer J103) fires Jrise {4 fraas 1260 f1295 B3t fr3es [1dos 1443 f1482 J1sa |1ser |17es |19s3 |zier |2 460
4 1041 gi082 JU126 1370 |1 216 1262 [0 300 J1360 J1 a2 Jiaed Jicid 1574 (1630 Jreas [rzes [ran Jeore Jean [2ass |adez
5 Q1051 J1104 F1A58 a7 Jrere [1338 |t403 J1469 1539 [ret [1685 |i7e2 |1842 1925 |2011 J2t00 2488 |3052 |33 Jaase
6 _fro62 J1126 |1134 J1265 J1340 Ja419 Jison 1587 J1e77 |1772 (1870 [1o74 2082 [2195 {2n3 [a436 (298 [3m5 |4827 Jeosa
716072 Jii4g prato {1316 [1407 J1504 |1606 |1 714 [rg2s |io49 2076 Jaart J2353 J2soz fzeco |ze2 [3se3 [eres Jears |aim
B_ (1083 J1172 V267 |1369 1477 Ji534 J171s Jre5t |1 993 J2ied |2305 2476 |2658 [2853 |3059 [3zv Q4o [5960 [8157 (@
9 034 J1195 (1305 1423 |1551 1689 [1838 11999 lai72 {2358 |2558 Jz773 J3oo4 Jazsa fasig |3803 [S1s0 [7451 |hoeo |i4ss
10 (1105 {1219 J1344 11480 f1629 pi7a1 ho9er {2150 [2367 J2594 {2839 J3106 [3335 |3707 J4046 4411 [e192 [ami3 137y 2014
W J1116 J1243 J1384 19538 11710 J1838 J2105 |2332 12580 Jassa {3152 13479 [3s36 |4226 4652 |5117 |7430 e |1792 |7 14
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14 11148 1319 11513 |i732 [1980 |2261 [2579 |2937 |34z 3797 [4310 4387 |5535 leeel [7o7e |rosa [rzs4 {2274 |39y7 |es7s
15 [16t J1346 J1558 |vs0v J2ore |2397 2759 |317z 3642 |4477 4785 |s5474 le2s4 Jra3s [s137 fozes [isar {zs4z |s119 [s01s
16 1173 {1373 11605 [1873 2183 |2540 |2952 |3426 |3970 4595 [s3n1 6130 |ros7 [8137 |93s8 |1o7s lisas |3sss {sss54 1217
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19 _J1208 |1457 |175%4 JeiQ7 [z5e7 f3026 13607 )4316 [5142 J6116 [7263 [8613 |1020 [1206 [1423 [t678 J3195 |6939 [1462 |2995
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22 11245 [1546 1916 J2370 12925 |3604 |4430 [5437 |e659 18140 [9934 |1210 [147i [1786 |21 64 2619 15521 [1355 3212 [7368
23 11257 |1577 11974 J24e5 3072|3820 |4741 |5871 J72ss sos4 fi103 [13ss 1663 [a036 J2489 |i036 Jeszs |ieot 4175 [9wz
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5 147 12000 |2814 |3%46 |5516 |7636 |1068 11479 2041 12810 |3857 fs280 7207 9810 Jt33z [t03 {5907 |a465 {9728 |36aey
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FVIF > 99999
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Table 2  Future-value interest factors for a R1 annuity compounded at k per cent for n
periods.

n

FVIFAw= Y (1+k )’

=1

Panod § % 21 3% 43 3% 5% 7% 8% 9% L tox | ux Jovax | 1x | iax |oasy | ey | eox | 25%x | 0% [ a5k
1_{1000 [1000 71000 {1000 J1ooo 1600 1002 1000 J1ooc 1000 J1000 Jiooo Jicoo fiooo Jiooo frooo |1ooe J1ome fiooo |1ooe
2 {2000 12020 12030 2040 2050 fooe0 j20i0 [#080 J2030 J2100 £2110 J2120 |2130 [2140 Ja150 2160 {2200 2250 |z |23se
3_|3030 13050 |3001 3322 13153 3134 3215 3246 [3278 J3dio 3z fi3re 3407 |3ea0 3473 |3sos aed0 Jae13 |39 |4in
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Tabte 3 Present-value interest factors for R1 discounted at k per cent for n penods
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Table 4: Present-value interest factors for a R1 annuity discounted at k per cent for n periods
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